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    Something rather different and perhaps more in keeping with the festive

 season, an amusing problem by Thomas Dawson with mate in one, not once

   but twelve times with the stipulation that after each mate you remove the

  mating piece and any opposing piece that has been captured. For example if
 you played 1.Rxe1+ (not a move in the solution as it isn’t mate -1…Ne3) you
 would remove the white rook that stands on f1 and the black rook standing on
e1 before finding another mate. You may need to set up your board to solve this.
Our game today is also out of the ordinary, a Ruy Lopez in which Black seeks to snatch the initiative with gambit play involving the sacrifice of a piece.  He gains enough pawns to compensate but makes two exchange sacrifices to ensure the successful advance of his pawn mass.  The loser, the late Russian GM Eduard Gufeld, donated the Gufeld Cup on a visit to Perth in 1986.

      Lubomir Kavalek  -   Eduard Gufeld



  Student Olympiad 1962


     Ruy Lopez, Cordel (Counter) Gambit


1.e4 

e5 

2.Nf3 

Nc6 


3.Bb5 

Bc5 

4.c3 

f5


5.d4 

fxe 

6.Ng5 

Bb6

7.d5(a) 
e3! 

8.Ne4 

Qh4!

9.Qf3 

Nf6 

10.Nxf6+ 
gxf6


11.dxc6 
exf2+ 

12.Kd1(b) 
dxc6


13.Be2(c) 
Be6 

14.Qh5+ 
Qxh5


15.Bxh5+ 
Ke7 

16.b3 

Bd5


17.Ba3+ 
Ke6 

18.Bg4+ 
f5 


19.Bh3 
Rhg8 

20.Nd2 
Bxg2


21.Bxg2 
Rxg2 

22.Rf1(d) 
Rd8 


23.Ke2 
Rxd2!(e) 
24.Kxd2 
e4


25.Bf8 
f4 

26.b4! 

Rg5!


27.Bc5 
Rxc5!(f) 
28.bxc5 
Bxc5


29.Rab1 
f3 

30.Rb4 
Kf5


31.Rd4(g) 
Bxd4 

32.cxd4 
Kf4

White resigns (h)
a) Hoping for 7…Nce7?? 8.Ne6 winning the queen.
b) 12.Kf1 would provide protection to the g pawn. Then after 12…dxc6 White must not play 13.Bxc6+? bxc6 14.Qxc6+ Ke7 15.Qxa8 Qc4#.
c) Again 13.Bxc6+? bxc6 14.Qxc6+ Kf7 15.Qxa8 Bg4+ winning the queen.

d) 22.Ke2 is met by 22…f1=Q+! 23.Kxf1 Rxd2.

e) Not really necessary but played to retain the bishop (White planned Nc4), a theme that recurs.

f) White’s attempt to trade bishops is thwarted by a second exchange sacrifice, leaving Black with bishop and five pawns against two rooks.
g) At last White blocks the powerful bishop but it is too late.

h) White cannot play 33.Rxf2 e3+ and remains powerless against the …e3/…e2 advance. Notice that Black kept all his pawns?
SOLUTION:  1.Nxf7# (remove N from h8 & p from f7) 2.Nxg6# (remove N h4 & n g6) 3.gxf4# (remove P g3) 4.f4# (remove P f3) 5.f4# (remove P f2) 6.Rxf5# (remove R f1 & n f5) 7.cxd4# (remove P c3 & p d4) 8.d4# (remove P d3) 9.d4 (remove P  d2) 10.Bf4# (remove B c1) 11.Rxe1# (remove R a1 & r e1) 12.Qe4#.

 
            .

